








* Error: 
Not from x to 1; 
v runs from ln x to ln 1.
* Doing indefinite 
integrals first would have 
avoided this fault. 
* Antiderivative: 
−ln|1−v|, which equals 
−ln(1−v) since the limits 
for v are ln x (< ln e = 1) 
and 0.
* The answer ends up 
correct. 





Preferably:
Check for zeroes 
before dividing. 

Incomplete solution: 
In this course, you should solve for x. 



TAKE NOTE: 
To the right, the matrix 
multiplication is 
explained in terms of the 
dot product that make 
up elemen (1,1). Good!









The "−1" is inaccurate, 
the way g is defined.
The rightmost equality 
holds true.
(Same for derivatives 
wrt. both x and y.)

MISSING: The constraint is part 
of the "Lagrange conditions". 

Preferably, write 
(x,y) and 
(1−x, 1−y) 
as it matters in 
this problem.
The top of the 
next page 
improves!



So this answer is a bit "unexpected" and must be read with caution: 
* Likely the first part is intended to address the general theory, while the last sentence ("In this case 
[...]") addresses this particular case. 
* Without that last sentence, it would be quite a flaw.






